RAJASTHAN 4TH-GRADE MATHS

afora

HEAH HATYAdS T ofgad HAac, 3Had, omegiia-, gfaerd,
SR, §AL, T U gft, 3ffehs! & Tl SRy H&IT Scamie |

1. ST GEAT3T hT HGTH FHTIA I 5 & 3R 3hT IOTeAheT 150 & | T Selehl oTEdH FHATIG T G117
(a) 30
(b) 60
()90
(d) 120

Correct Answer : (b) 60

2.12, 16 3R 24 T AgAH THTITTH FAT &7
(a) 2
(b) 4
(©)6
(d)s8

Correct Answer : (c) 6

3.15, 20 3 25 T oTaH FATI Y 1 57

(a) 150
(b) 300
(c) 450
(d) 600

Correct Answer : (b) 300

4. 9T AT H TEIT3T 7 3119d 32 § | T9Y T3 G&IT FIT g9



(a) 36
(b) 38
(c) 40
(d) 42

Correct Answer : (d) 42

5. Teh ] T 1200 T9A H Seled I 20% T oI1eT B1clT & | hd Hed 4T g1am?
(a) 1000 T
(b) 1100 T9X
(c) 1200 39
(d) 1300 T9F

Correct Answer : (a) 1000 93

6. T T T 800 FIX 3 =Y TN 25% FT F1FA BIeT & | 5 Hed FATGIo?
(a) 1067 T
(b) 1100 F9X
(c) 1200 39
(d) 1300 39

Correct Answer : (c) 1200 T

7. Ueh oI ATEROT sATT T eI T 2 gut 7 1200 T & St g 31 3 aut & 1350 TuA @Y AT &1 &%
AT hIfaTT?

(a) 5%

(b) 10%

(c) 15%

(d) 20%



Correct Answer : (b) 10%

8. Teh EIRTTR Tshae e sAToT shT & & 2 aNT H 1600 T & SATeil & 3N 3 a8t # 1760 TUA gT ATl 81 &
AT HIfSTT?

(a) 5%

(b) 10%
(c) 15%
(d) 20%

Correct Answer : (a) 5%

9.9fCA:B=3:43RB:C=5:68,drA: CFITERM

(a)5:8
(b)9:16
(c) 15: 24
(d)20:27

Correct Answer : (c) 15: 24

10. Ueh ofef Ueh ohT o 10 TS # # Hehcll § 3R G@T oTcT 3T Tehl bl 15 T H WTell 3 Fehell ¢ | ATE ATAT
oTel Teh AT WieT TET ST oY Eehl Tehcled HHI H $1 ST

(a) 30 &¢
(b) 45 &
(c) 60 TC
(d) 75 &<

Correct Answer : (b) 45 €¢

11. Ueh YT 60 el /eiet &t arer ¥ 3 6 # U A fRaa gt aa st 81 afe ag 45 frell/der hrara @
T &Y AT 3T G T T et H TehelelT G oalam?




(a) 4®C
(b) 4.5€C
(c)58¢
(d)5.58¢

Correct Answer : (a) 4 ©i¢

12. Teh ATGHT 5 fRaY /8T ST aTel & TeldT & 31X Ueh Asfehel AR 10 frall/ger fr arad @ goarg | afe
aleil Ueh €1 TUTeT & Teh &1 HHY R Tt f&=Im & wefell & o @l 2 B¢ 76 J Ueh AR A fohelell g0
gier

(a) 30 foretT
(b) 35 forat
(c) 40 forait
(d) 45 forat

Correct Answer : (c) 40 TRaT

13. Reafof@a st T AT FATE? 2, 4, 6, 8, 10
(a)6
(b) 7

(c)8
(d)o

Correct Answer : (b) 7

14. RAFTT@T sl AT AT FATE? 2, 4, 6, 8, 10

(@5
(b) 6

(7



(d)8

Correct Answer: (b) 6

15. AT 3HTehsT T Tgersh FATE? 2, 2, 4, 4,6,6, 6,8, 10
(a) 2
(b) 4
(c)6
(d) 8

Correct Answer : (c) 6

16. T UTHT &I thehl SATAT & | Teh TH AT YT et hl UTTRIehdT 3T §7
(a) 1/2
(b)1/3
(c) 1/4
(d)1/6

Correct Answer: (a) 1/2

17. Ueh UT T &1 I $ehl STl & | Slell S Teh &1 HET AT hlat Sl Ikl 7T 87
(@)1/6
(b) 1/12
() 1/36
(d) 1/24

Correct Answer: (c) 1/36

18. T A F 5 ol 31 3 Aol 3¢ & | Tre=aar Ueh 3 [AaTel ST 1 37 ool 81 &Y IR ar = &2

(a) 5/8
(b) 3/8

(c)1/2



(d)1/4

Correct Answer: (a) 5/8

19. Teh TH37T o cliail h1UTT ohT 1T feheTaT g1l &7
(a) 90 f2aft
(b) 180 f3fr
(c) 270 3o
(d) 360 f33f

Correct Answer : (b) 180 f33fi

20. Teh I T AT 14 QAT 8| 3HHT TRATT T g2
(a) 44 THT
(b) 22 T&T
(c) 88 THT
(d) 11 J=

Correct Answer : (a) 44 THT

21. T 37T T oiaTs 12 THY 3R T3S 8 THT & | 3T &Il FIT I
(a) 96 T AT
(b) 48 TaT AHY
(c) 24 T qHAY
(d) 36 T3T AHY

Correct Answer : (a) 96 3T T&T



22. Ueh G31 ohT &1l 64 G397 AT | SHEhT 37T hl SIS FAT G192
(a) 8 TAY
(b) 16 THT
(c) 32 TAT
(d) 4 B#Y

Correct Answer : (a) 8 §#HT

23. #AgAH AT IS (HCF) FATBIAT 8
(a) ar AT &1 { 31T TEAT3T T HEH FT FTST HTT

(b) TEIT3T T TETH DICT HTIT

() TEIT3 T AN

(d) TEIAT3HT T 0TS
)

Correct Answer : (a) &I IT &I & 3118 TEAT3HT T T 3T HISTT HTIT

24. TGAH GATIGY (LCM) FATEIT &
(a) & T & & TR HEITHT T Herdl BICT HISHT 0TSl
(b) TEAT3T T T FT 9T
() HEATT FT S5

(d) EE137T T Aot

Correct Answer : (a) &1 3T &1 & 3TeIeh HEAT3T T HH BIET AT 0TS

25. T Fordl o€ & Hed H 20% T Jefe 81 ST, Al 7121 Ho o) hgT ST &
(a) oITeT

(b) &1fer



(c) AT HoF I gefer
(d) Fe TS

Correct Answer : (a) o7

26. STH-gTTA & I Teh a&] T 568 Hed 100 39 3R [T HoF 120 TUA 8, oY TS FTIrcT 4T g1
(a) 20%
(b) 15%
(c) 10%
(d) 25%

Correct Answer : (a) 20%

27. WTURUTATS (Simple Interest) T FF FATEIAT &
(a)SI=(P*R*T) /100
(b)SI=(P*R) /T
(c)SI=P*R*T
(d)SI=(P+R+T)/100

Correct Answer: (a) SI=(P*R*T) /100

28. aaagﬁrm (Compound Interest) T q EF«’JT@HT %’
(@) A=P(1+R/100)"T
(b)A=P*R*T
(J)A=P+R+T
(dJA=P(1-R/100) T

Correct Answer: (a) A=P(1+R/100)"T

29. 3¢ 25% 18T ITC &1, Al 56 FHe T Y JolelT A [ashd He fohcTalr sgam

(@) 25%



(b) 30%
(c) 35%
(d) 20%

Correct Answer : (a) 25%

30. HATTIT (Proportion) T Hclolel 4T §IcT &
(a) & TR T HATH 3FgaTel
(b) &Y TTRAT 1 =t 3rgaret
(c) ar fRrt &1 T
(d) &Y IR s IOt

Correct Answer : (a) &I T I HHTT HeTdTcd

31. JT¢ IS 1A 5 SATFATT g@RT 20 &t 7 FRaT SATAT §, A a8T 1o 10 SATFAIT GaRT fehdder featt &
RIS

(a) 10 f&eT
(b) 20 fe=T
(c) 25 feat
(d) 15 feaT

Correct Answer : (c) 25 f&aT

32. T, Tl Td g & g T T FATEIATY
(a) JY = ©Tel x HAA
(b) &t = gAY / AT
() QI = =rel - A

(d) &1 = =Ter + FAT



Correct Answer : (a) Z‘S’I’ = Tel x AT

33. ATERUT <ATST H I 7T AR 2000 9 &Y 3R STTT 500 T &Y, oY Forg 41 gram
(a) 2aY
(b) 3a¥
() 4a¥
(d) 5a¥

Correct Answer : (b) 3 ay

34. Ueh &R T 31Tt 60 fehellefieT ufd e d | a8 3 € & Tl gt o7 el
(a) 180 fpralreex
(b) 150 fheliHTeT
() 120 ThatTTex
(d) 90 ferelHIeT

Correct Answer : (a) 180 fhell#Ic

35. forely a&q] & FHeT H 10% 1 a1 g1, Al 7121 Ho foheiarr glam
(a) 90%
(b) 80%
(c) 70%
(d) 60%

Correct Answer : (a) 90%

36. T TRIT TEIAT HT 40% 80 & ST &1, Al 9g TEIT FAT g1

(a) 200



(b) 250
(c) 300
(d) 150

Correct Answer : (a) 200

37. 3iTen3T &l AT GaRT [ e qUT Sel T AT T gl &
(a) 3fTenat ol FT o ¥ H T

(b) 3HTehat ol ITTOTAT T T §oT all

(c) 3TTh3T I HEATHS T H TFd el
(d) 31TehsT T Fichiaeh & T STATIT AT

Correct Answer : (a) 3Tehsl I T & &7 7 g2Afar

38, forel TE&AT HT 25% 50 & ISR g, dl 3T TE&AT HT 50% FAT G
(a) 100
(b) 125
(c) 150
(d) 200

Correct Answer : (b) 125

39. TordlT T T G el H 10 ST 5 18T ofaTd &, Al a8 1 5 eaferd fehcte faait  andar
(a) 10 &=
(b) 20 fe=T
(c) 15 feaT
(d) 25 feat

Correct Answer : (a) 10 f&eT



40. & 3 aut 7 600 FI FHT ATUROT SITS AT &, AT AT AT & FAT @I
(a) 10%
(b) 15%
(c) 20%
(d) 25%

Correct Answer : (a) 10%

41, FATIA A AT 6.: 9 = x : 12 §, Y x T AT FAT BT

(a)8
(b) 10
(7
(d)9

Correct Answer: (a) 8

42, ATUROT $ATST H 3R aTieh sTToT &X 5% &, dl 2 81 H 1000 T9 T sITST fohcdeAT g19T
(a) 100 T4
(b) 110 39X
(c) 120 T
(d) 130 39

Correct Answer : (a) 100 $9

43. T Tl TEAT F 20% T Jefer 1 STl 8, Tl ST AT bt SIIT T gram
(a) 120%
(b) 110%
(c) 115%
(d) 125%

Correct Answer : (a) 120%



44. TR TE] & HeT H 15% T I8 g STl 8, ot 7731 Hed fehcer gram
(@) 115%
(b) 125%
(c) 135%
(d) 145%

Correct Answer: (a) 115%

45. 91 10% T ST o dTe; Tl T ol Heod 450 TIA &Y, Al T8 ol a&] b1 Hed 41 AT
(a) 500 I
(b) 550 T9A
(c) 600 TTX
(d) 650 TTX

Correct Answer : (a) 500 ¥9F

46. HATTATT H TG 5 : 7 = x: 14 BT, T x T AT AT G1aTT
(a) 10
(b) 12
(c) 13
(d) 15

Correct Answer: (a) 10

47, GIUROT AT H, T 1000 TIY T TTA T 10% TTTH sATT T F 2 IuT & AT fehdaIT gl
(a) 200 TG
(b) 100 9

(c) 150 39



(d) 250 T9X

Correct Answer : (a) 200 93

48. IfE Forelt AT FT 12% 36 & SIS &, AT ag TEIT FATEIIMT
(a) 300
(b) 250
(c) 200
(d) 350

Correct Answer : (a) 300

49, FHZ, °Tel Td g3 # Ueh T 20 fehey wfet T &hT a1fey & 5 € # fehetall gt o7y avdam
(a) 100 fFrareex
(b) 110 fReli#eT
() 120 ThaTeTex
(d) 130 fhreliTex

Correct Answer : (a) 100 fFalt#HE

50. STeT-gTieY A Tfe; [asha Fed 120 99 8 3R T Hed 100 39 8, AT &TeT gfcrd Fam gram
(a) 20%
(b) 25%
(c) 30%
(d) 15%

Correct Answer : (a) 20%

51. forelt &R a1 5 carferarall g 8 f&ait H 9T foham SiTa &, ot a8t &1 10 saferdail gan fevcte feati #
QT

N



(a) 4 feaT
(b) 5 &t
(0) 6fea
(d) 7 f&=

Correct Answer : (a) 4 f&eT

52. 316 IS TE&AT 10% ¢ SATdT &, dF 3R 73T AT fShdelT gram

(a) 110%
(b) 120%
(c) 130%
(d) 100%

Correct Answer: (a) 110%

53. AT H I 4 : 6 = x : 9 B, A x T AT FIT M

(@) 7
(b) 8

(99
(d) 10

Correct Answer: (a) 7

54. |TLROT SATST H TTe 5000 T4 I 8% ATV sATT &I & 2 T H ST fohetaT gramm
(a) 800 T
(b) 900 T
(c) 1000 39
(d) 1100 ¥9

Correct Answer : (a) 800 I3



55. foh i a&c o Hed & 5% T AT g1 ST, Al 78T Hod fohctelt i et gram
(@) 5%
(b) 10%
(c) 15%
(d) 20%

Correct Answer : (a) 5%



